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SECTION " B

Ans*er a''y fou! oflhc rbirc..ing quesrio,s. Eac'] questior cariies fivc narris
4xS-ZO2. S'tarc ihc co.\'crsc. irllers. .id contrap.s;til'e 1or th. iDllo!\ire starcneni.

_lt a Lr.i.1lgle is ]lol Isosceles iheD ir is not equjlareral.,,
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Sho\r that sin3r : 3sin_t -.+sinrd.
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E\:ahrate : {,t. cos r:. dx

Find the in\e1se of -"tr;" I 5 r 
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SECTION - C

-Ans$er aoy three oI the follo$ing questions. Each question carries ten matk!.

8. verifv the gi.en compouncl proposiiion . 3x1o=3o

l{n +.1,' (q-rtlJ[(p. q) , r ]is either Talltolog,.or Cotltra.liciion.

9. Soh e rhe fo11or-ing b1, Crafnel,s Rule :

3x-!+52: lO

:+y+z:0
2x l-+ 32:9
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10. Plore that rhc luncrjon f (_rl - Jr 3 js co,trjro,.rs'ar _\i_rl. ) =3:J]C ;:r

11. (a) Diiirelltiatc sin,y.cosri \\.1. ro .r.
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